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[ 11,554,541 8,896,971 2,657,570
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Al 116,787,021 93,121,951 23,665,070
H=sns 45,926,124 46,461,044 534,920
= 1,521,000 1,902,000 381,000
Jl 1,538,777 1,638,777 0
< 561,851 561,851 0
Al 42,304,4% 42,458,416 A 153,920
WSOHM Ald2te| 2,751,000 3,386,000 635,000
= 1,119,000 1,500,000 381,000
Al 1,632,000 1,886,000 A254,000
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= 819,000 1,200,000 381,000
Al 546,000 800,000 £254,000
01 Al&HI 1,365,000 2,000,000 635,000
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= 819,000 1,200,000 381,000
Al 546,000 800,000 £254,000
HY2EGH(HSNSH) 462,114 362,034 100,080
QIH2HH(HE RS 374,642 276,562 98,080
H2IH(tHEnsSY) 374,642 276,562 98,080
101 QI24H| 374,642 276,562 98,080
01 2= 374,642 276,562 98,080
OAIZIRAZ R4S 374,642 276,562 98,080
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201 fer=3| 51,964 49,964 2,000
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WSHEAIER= 2,001,090 1,964,090 37,000
= 30,000 30,000 0
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= 30,000 30,000 0
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e 50,000 0 50,000
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Al 35,000 35,000 0
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